Nete 0 /
&C‘l’tﬂ f\ Q -') - MG\'\'ME‘—VY\GK"(:{CO.\ Eﬁclaec{'m'[:(om

CE\S“‘ GLQ?\(;‘QI(CG (SQ:?‘_\J'n,gi "ec[“m“j IE‘:E\B)- CE?V‘EEclcr

—H/\e_ EVQ’W{'S
A — 2\.2.3%)
R = 3$4.53
C — 353)
ound He RV
A ours,
2

A = { R oxurs
> & C occurs ,
mrfﬁehﬁlﬂ the Pa:j OPP. £ s aamblc: S \('@E:cm‘tEd
SUmeenHj mmd times, then ore expeds to win
1 about "53' of the times,
{ N obott T of the times,
3 abad 7 o the times.

~ 1.2 2 L _ 5
- - O+3 & = q

“on the c:weva\@eﬂ.

Sy Spacs ot X
PX: PMF of X
E(X):= % A B&)

s called the wmothematica e;;CPec‘ra-ﬁov\ oV Qﬁ‘oed'ed
\fa‘vte O'F X, va{degl the sum e;{(s{s_

Dedl = i X : RV of discrete {ype,  then



Ex ( Bpected wlue of fundion oF RV)

FHF a o o twice : and
X = [H of heads]
¥ = {,LCX) - where W) = |\ .
T hean Sx = 20,2 oand the PMF P o X =
X @) | 2
Px €0 F P Ze
I\I‘i'-""-i""ﬁr
(1) SY - %olli
() Py = PCY=0)=P(X=1) =K =3,
Pe = P(Y=1)=PX=00 X=2)
= P(x=0)t P(Xx=2) = P+ () =75
So,
E(Y) = SZSY:‘ Ry =0Re) +1-P0) =35

Own the other had, we may os well compute :

EY) = 0 Ry ) + |- Py (D

=0 D+ |- P+ |- Px 3
= W) [0 + U P () + UG- R (2)

L ES¥x

This CQVHFW(T?\'HC?VI taewamlfzes +o
(LOTVUS, Low of the uncovecious s~Pu+T;1'fc?au)

Elu] = UCO- P GO

X €Sy

V)

( T +he textbesk, LOTUS & used 4o DEFINE +he worthemcdion
expectation , perveps ‘o make proots  look eas"(er.)



E(ulX) compwted by definttion

Rwks ) (, PMF of u(X)
* Tn other Wc;'rols, z Y- Pu(x) (j) — Z Vie®) -PX(F()
IESux) X €Sy
'5[?;:#07 +he RV u(X) '\

E (u() Cc:mc,:wl-ed lrg_kj LOTUS.
e ECX) vneed not clways exists and Ts finite

THM \Whew “-?—7’55'{'9: E() Sa'\'fsﬁes -Hne 'Fo“awTHj F\’aFEr-Fesl
() I ¢ s a constart, +hen E(c) = C.
() Bch oot & X 5 a RY, tHen E(cX) = cEWX)
© It K, X are RVs, then E(X\'{‘Xl) = E(X) + EGR).

Pf) We tix on arbf“‘rmv\nj RY X -\-hravg\novr\'.

(&) Rﬁaard C = LL(X) where WE) = ¢ T« the covet .
Thew \o\cj | OTUS, il

E——

_—#'—

f'_ ﬁ

o= 2 cp®» =c > B® =c

TESy X ESK
() 93 LOTUS,
ElcX) = 2 ct RO =¢ D xpl) = cEX)
AESYK < ESK A

() \\e oml\j Prt:?O'F ‘H/\e wose wheve X;: v C?Q & X; =U~2(70
for scome RV X. Then b\j LOTUS,

FECES E( w(®) +~w®)

— g (L(Li) T L’LJ-[:‘LD PX Cj‘)
SX

= > WORED + 2 WRED = E(X)+E()
:I'_E:S)( X ESK D



Rwk) e R‘oFer'EE’S (b) &k © O*HOSEH"QV SWW“TS 1o

(ch L:_( i C: XE) = i ce ECX?)

L =| C —)

+tr- Constonts G's & RVve X-ig (@) s otten alld
[(h ety ot E().

e IV\ ene/ra\\ . EC) do wotr V\E‘CESSG\HU commute wWith other
‘unctans

[Ex|] For <ech b, : EB) =1L
El(x-by] = ELR-2bX+8] [/
liwmr'{u E[Xz] —2b E[X] + )DQ‘
Izzjorclfws His as o fimcton of b, T € @ clumdwv\"tc
demmtal wm b
= (b~EDA)+ EIR]-(ENY

ond this shows ot E[C X-b)z:, = Mminimized
ot b = EIX]. 1

@l (G\eome"'ﬁha &(%Lu+tnw) Agsmme,

» A vandem <¥pr- heas ‘om\g PeCoxl) st OSVU@ESS
EPW‘Q 2 =1-p of FAILURE,
P QeFeo\-‘r ’Hl_(é SXpr - dee]:a\nalw“\j -

b Set X = [# o trals unk| +he S sucesss | |

() Clearly Sx=1712.3, -3



(1) FUY‘ E&Cb\ X & S)& p
P)((:O = PXK=x)
(2H) s
Sami"'a C\/\E’Cl’— _—
=2 Py = 2 57F
XCS i =\
_ P _
— =3 :;.
= Px (& (ndeed o PMF
Thewn
EX) = Z2 P&
X ESY
e =S x - i
= 2 I
Ndl‘lvlj -H/\Oc;\“' . )
n—{ __ 1
n; NZ< = Z Jz X
—_ e
B "_z'( l—z)
We 8e:‘r
_ | _
Srm?[ayla,
2 2 __n~ = A 4
2 Wzh = Q0 4xnz
n—\ n=|

P(x— toilues then 4 vacceSS)

Zl"":) ‘







	Honeyview_Note 06-1
	Honeyview_Note 06-2
	Honeyview_Note 06-3
	Honeyview_Note 06-4
	Honeyview_Note 06-5
	Honeyview_Note 06-6

